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| A man sells two horses for Rs. 1950. the cost price of the first is equal to the
selling price of the second. If the first is sold at 5% loss and the second at

25% gain, what is his total gain or loss (in rupees)?

Teh ATEHT 1950 TU 3 3Y WIS Aot 31 Tget hY oI o gay & favshr
T o T . AT TEEAT 5% B U AT ATAT & R O 25% T W

ST AT &, AT IEERT HSA ATH AT T (GU H) T 82

(1) Rs. 150 loss

(2) Rs. 500 loss
(3) Rs. 50 gain

(4) Rs. 500 gain




Given 1! + 2!+ ..10! = 3025 then 2! + 4l + 6l + .. l

. +20° is equal to-

(1) 6050
(2) 9075
(3) 12100







" V5+1 db—\/g_lth 4 val fa2+ab+b2
a—\/g_lan = Et1 en the value o

a?—ab+b?

)3
) 3/5

4) %




If a+b+c=0, then the value of

a+b b+c c+a a b C
(24555 e 22
C a b b+c c+a a+b

838
) -3

40




Iftan 15° =2 -\/ 3 , the value of tan 15° cot 759 + tan 759 x
cot 15°







sina—cosa

Iftan O = . then sin@ + cosa is
sina+cosa

(1) v2Z tan©O

1 ®
R) - sin0

1
4) - cosO




Each interior angle of a regular polygon is three times its exterior

angle, then the number of sides of the regular polygon is :

T Fatia Tgae =1 T Aiaite Sior 36 JrEd wior A i

AT B, T Trafer gt & et it v @:

19
(2)8
3)10
4)7




)
. 10 The perimeters of two similar triangle ABC and PQR are 36 cm and ===

24cm respectively. If PQ = 10 cm, then AB is
g gaT ISt ABC 3R PQR i aifer shwsm: 36 At oY 24 Tt 1

IR PQ =10 A, AT AB R
2)12em
(3)14 cm
(4) 26cm




A is twice efficient as B and together they can do a work in as much as C and D together

take to do that work .If C and D alone can complete the work in 20 and 30 days

respectively, then in how many days A alone can complete the same work alone.

A, B ¥ AT HITE ¢ SR frctent e & &t C 3R D g1 fireTent 3@ el st it o fotg
T A 3 SR T Tehel 61 ATS C 3R D STReT 3 hTal il SHA: 20 3 30 &1 & qr o
T &, AT A Tehet foha Tt & ohrel 0T oY TrehaT §? 3T ST ST 3Tehel X1 SRY Hhd §

1. 12
2. 18
3. 24
4. 30




The length of the common chord of two intersecting circles is 24cm .If the

diameter of the circles are 30 cm and 26 cm, then the distance between the centre

(in cm) is —

3T IATAHTSISR ToTah| chl 3TTH ST kY wiaTs 24 Tt B Tfe Tkt w1 =amd 30 O+t
3 26 Tt 2, A ohy (At ) F A hr i 2 - -]

1) 13 Q) 14 3) 15 416




Which one of the following fractions is greater than 1/3?

1 sRaTR13aaETe?

(1) 27/82
) 20/61
3) 16/45




KJ f" Harish bought a second hand typewriter for Rs. 1200 and spent Rs. 200 on =
12 its repairs. He sold it for Rs. 1680.find his profit or loss. What was his profit

or loss percent

9T 1200 U W YhE TS TS THIET 3 THhHT AOHT T 200 TI T
foru 3E 30 1680 TUT o S feam IEent T I BT afave v Ee 2

(1) 10% loss
(2) 15% loss
(3) 20% loss

(4) 20% profit




'~..‘_' n‘,..-'" 1
3-+33-+333= = = =
13 3 3 3+33333+333333 :

1) 37031;

Q) 370371

3)37036 >

437032 3




The profit earned by selling an article for Rs. 513 is equal to the loss ]
incurred when the same article is sold for Rs. 435. What should be the sale

price of the article for making 40% per cent profit?
T ol TET T 515 TUY F Aot HUTAT T ATH I F o Sa AT § 9
I TEG Y 435 TAY H AT ATAT 81 40 AF9Tar e o o Tore ag 6t fershy

e T E AT ATRT?

) Rs. 707
3) RS. 683
(4) RS. 673




1 1 | | | | |

—t—t—t—t =t —+=—= =

6 12 20 30 42 56 72

(1) 5/18

2) 7/18

3) 11/18
4) 13/18



Veer invested an amount on simple interest, and it becomes two times of itself in 10 years. If Veer

invested Rs. X at the same rate of interest on CI and he gets Rs. 5324 as amount after three years,

then find amount invested by Veer (in Rs.)?

ofIC A ETEROT SATST 9T W TR (+aI2T shl, SRR 10 i § w2 sht QAT &1 751 Afe ofi A &, T 1318
AT STST QO R SR IY 1 aNT o 16 UMRT 5324 THFS &, AT A G FHel=T Al T8 TRT (T H) J1d
EAIERY

(a) 4400 (b) 3600 (c) 4800 (d) 4000




A reduction of 10 percent in the price of potatoes enables me to obtain 25 kg &=
more for Rs. 225. What is the reduced price per kg? Find also the original

price per kg.

AT & e | 10 Tfawrar <y ot & Wer 225 Tau 25 fovett atftrs s &
TR TATAT 31 Wil Tehett e hrAa 32 am i forett et hiva st uar

)

(1) Rs. 0.9, Re 1
(2)Rel,Rs2

(3) Rs. 0.8, Rs2
(4) None of these




KL:} A person buys 8 oranges for Rs 15 and sells them at 10 for Rs 18. What does E
17 he gain or lose percent?

Teh Ak 15 TaA | § HR @HSAT 2 3R IF 10 TUT H 18 | I<ar 81 af e A1
g ufdere gt ?

(1) Gain of 4%
(3) Gain of 2%
(4) Loss of 2%







(2) 90/91

(3) 91/180

1
@1 50




./ A dishonest fruit vendor professes to sell his goods at cost price but he uses a

20 weight of 950 g for the 1 kg weight. Find his gain percent.

Teh AGHT Tl TASHAT STU- WTHT Sl TRTA Hed U Aol ST JTaT LA 8, Afeh
T2 1 forelt a1 o 1T 950 T T 6T IUART HAT 31 ATH UTA9Te 6t Uar

TG,
§)) 5 %

(2)5 %

(3)5 %

(4) NOT




KL:} A sells a good to B at a profit of 15% and B sells it to C at a profit of 20%. If %
271 C pays Rs. 690 for it, what was the cost price for A?
A 15% F ATH I B 1 Teh TEF AT ¢ HR B T 20% & AT T C Hl S=ar
2.3 C 3 foTg 690 TUR T AT T B, At A 3 Forg e wew i e

(1) 600

3) 630

(4) 580




@) 8/13
3) 13121

4)13/8




(1) 706/999

) 713/999

(3) 353/495

(4) 353/999




A man bought a chair and sold it at a gain of 15%. If he had bought it at 15% less =
and sold it for Rs 160 more, he would have gained 40%. Find the cost price of the

chair.

T ATEHT U el @lig a1 ¥ 3R 39 9E 15% Al 9gq W aw AT €, Al AT
15% ¥ TR T AT 3R T 160 T 7TrH T A< T, 77 38 40% ATH 2

T H AR Ao /T T A

2) Rs. 3000

3) Rs. 3600

(4) Rs. 3200




Find the remainder (987!!I + 37) +~ 988

25 IIITEHTT AT &Y (987567 + 37) + 988

)38
3) 37

(4) NOT




- /0  Find the smallest among V5,16, V7 and /30
Y BT ATT Y 2




b {
An article is sold at 10% profit. If its CP and SP are increased by Rs. 15 and

Rs 5 respectively, the percentage of profit decreases by 5%. Find the cost

price.
TH TET T 10% T T =T ATAT 8. AfS 38 7 Hed AR Frshar gear 7 st
15 3R 55X Y qfeg, T ATAT 7, AT TATH BT AT 5% THH B ATAT 3| TR W

qdT |

2) Rs. 213
3) Rs. 512

(4) Rs. 312




2/3 of a commodity is sold at 30% profit, % is sold at 16% profit and the rest &
at 12% profit. If a total profit of Rs 75 is earned, then find the value of the

commodity.
T S & 2/3 AT T 30% FITH U AT ATAT &, S 1/4 ARTRY 16% FTH W @w

ATt 3 3R ARl 12% T OR. 98 75 A T her oI ATt foRaT s @, v g
T T AT Y ?

1) Rs. 300
) Rs. 250
3) Rs. 350

(4) Rs. 325




What will be the product of the divisor of 900?
900 o WIS T ‘;IET-I'@@‘H?I‘ NERRS T ERT?




(0 Ifanumber is divided by 96 then we get 14 as remainder. If thrice of the
number is divided by 16 what will be the remainder?

Ife v v&ar 96 | vl fRrsTar A T F w14 T e, afe

T &t T 16 € RS e smar @ & 9w s g

@) 20
3) 16

4) 14




#'1 The smallest multiple of 7 which when divided by 6, 9, 15 and 18

respectively, leaves 4 as the remainder in each case?

7 % TS T AW BT WEAT AT HAM: 6, 9, 15 3N 18 W e gelt 7, A vedh

AT & 19 & €T T 4 JqHeT T § AT AT AT 2

(1) 366
3) 370

(4) 380




3/5‘! of a consignment was sold at a profit of 15% and the rest at a loss of

10%. If there was an overall profit of Rs. 32, Find the value of the

consignment.

Th @ % 3/5 AAT HT 15% % ATH G ST b1 AR AT R 10% F

THA W, Al 32 TAT /T ATH FAT AT &H 6T Hed A1 0 ?

1) Rs. 640
(2) Rs. 460
(3) Rs. 960

(4) Rs. 740

=
p—




A person buys 100 toffees at 10 a rupee and 200 at 5 a rupee. He mixes them

together and sells at 4 a rupee. Find his profit per cent profit.
Teh SATvh 100 T TEEAT § 10 STt 1 9T Y 3 |, 341 200 TRt 5 2ThT 1

TAT 6T T A,ZT ol AT T 4 ST e AT A st 34T ,a 1w Sfavra J1a
7
(1) 20%
(2) 25%

(3) 40%

4) 50%




iy ,

W4 A man buys two tables for Rs 1750. He sells one so as to lose 10% and the Lo

other so as to gain 15%. On the whole he neither gains nor loses. What does

each table cost?

Teh ATSHT 1750 TUA | Y AT THEAT gl 38 Teh W 10% <hY T ae
AN W 15% HTATH AV TATHA TR A v , A eaer

T T Y 2
(1) Rs. 1000, Rs. 750

(2) Rs. 950, Rs.800

(3) Rs. 1050, Rs. 700

(4) NOT

i
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'S A man sells two horses for Rs. 1950. the cost price of the first is equal to the - = '.
selling price of the second. If the first is sold at S% loss and the second at

25% gain, what is his total gain or loss (in rupees)?

T HATSHT 1950 TU H 31 €IS AeT 31 Tge hY TrTa o gay st fashr
T o TR 2. TS TEEAT 5% B T ST AT & IR FAT 25% AW W
T ATAT &, A ITRT He AT a7 JT (B0 §) T 22

(1) Rs. 150 loss

(2) Rs. 500 loss
(3) Rs. 50 gain

(4) Rs. 500 gain







